=2y +2=09 97k obd ze

@ (-6,0) @ (3,4) @(o, 8)
® (-3.3) ® (6.%)

x=0,y=8¢ o
1

§x0—2x8+2¢0°]ﬂiﬁﬁ7}°}‘4ﬂr.




x4 2y =56 9 off FollA x<y

@ (0, 28) @(2, 21) @(4, 14)

x=1,2 3, = A= WA 7x + 2y = 56 9] =

(2, 21), (4, 14), (6, 7) ©]AL O] A2 BF x < y & TrE3tct,




3.

x4ay=12 b7} (1,-1) & W, a 9] §h2?

® -2 @ -1 @0 @ 1

x=1,y=-12 x+ay=1° 4t




2x+y=1

SRR
xX—=2y=a

® -3 @ -2 @—1 @ 0

o 37k (b,-5) D o 4b-a o] L T3}

B

2b-5=1,b=3

x—2y=aAl°] (3,-5)F Y5t a gk 3t
3-2(-5) =a,a=13

Ldb-a=12-13=-1

2x+y =129 x=b,y= -5 & A b T2 7t




By =220 o iawe olgsi] 2 1, e

AT A 7
3x—4y =
Z )22 x & A 7517 95 HrEL9
D)Ox3-© x4 @ Ox4-Ox3
® Ox3+0Ox4 ® Ox4+Ox3
® Ox3+Ox3

x & 2715171 915k x o] AleE 24

S OOx3-Ox4




x+ay=9
bx+3y=19

o a7t (5, -2) A W ab ] & Pt

bx+3y=19---©

x=5,y=-2 5 WAt 27} a,b 9 FhS A3t
a=-2,b=5
. ab=-10

{x+ay:9---®




x—-y=3 2x-y=1
@5 @3
2x -2y = dx=2y-2
2x+y=5 xX=y+2
® ' @ {77
x+2y=4 3x-3y=4
6x—-2y=4
® Y
3x—y=-2

® {x—y:?, 9 30— © ol At 249 Bk
2x—2y=6 ---©

@ si7t it

® 142 87} sl

@ 7} gl

® 37t gict.




® x+3<x+6 @ x+3>x-6
@3x<x+6 ® 3x>x+6

® 3x<x-6

3x<x+6




of vetd

oF
T

—

NI
<+
il

T

94

‘@
©

ax+b<0--

cx+d>0--

<

B -1<x<?2

@ x<2

(@)x<—1

® x>-1

@ -1<x<2

x<-17x<29
Lx<—1




10. dHES4 < Zolzh
x+2>1
DO -2<x<1 @ 1<x<2 ® -1<x<?2
@ 1<x<?2 @D—1<xs2
3(x-2)<x-2 3x—-x<-2+6 x<2
x+2>1 x> -1 x> -1

-1<x<2




HEA 1 <-2x+1<3 9 3&?

D -2<x<2 @ -2<x<-1 @—1<x<1

@ -1<x<?2 ® 1<x<?2

B

-1<-2x+1<3
-1<-2x+1 x<1
=
-2x+1<3 x> -1

L-l<x<1




12, The % QAT y = 204+ 19 TAT 99 HE 12 ALY

1=
@ (0, 2) © (1, -1) © (-1, 2)
® (3, -5 ® (-2, 3)

va0 066 006 @Doe 6606

O©-1=-2x1+1
®-5=-2x3+10°]22
O, ®2y=-2x+1THZ o] &= Holch




i
)
o

a,yd

Heptdw a+b 9




AAPIAA x -2y +6 = 0 ] THZAA x BHy O] T2

@ -6 @)—3 @0 @ 3 ® 6

B \

1
x—2y+6=0—>x+6=2y—>y=§x+3

ity

xZdH: —6,ydH: 3,

~—6+3=-3




15. of& 2o} eyt A2 N i,
®© y=2x @ y=-2x+1 2

1 11 2 4
= — = __ - -4 | =2 O
®y 2x+3 @ y 3¥+ ] 5
@y:—x—i—Q T,

Zo3 gzt 7]87]7k -1 9 2@z}, o] Lefmo} By
317] $Ia1AE 712717} olof stmz y — x4 2 o]tk




